










 
 

 



 

Source code 
theta=(30/180)*pi:0.01:(120/180)*pi;
ang=theta*180/pi; 
  
va = (122/(2.27/2 + 2.27^2/(2*1.36)))^(1/2); 
vb = (va*2.27)/1.36; 
  
Va = ((-va.*cos(theta)+7.3).^2 + (va.*sin(theta)).^2).^(1/2); 
Vb = ((vb.*cos(theta)+7.3).^2 + (-vb.*sin(theta)).^2).^(1/2); 
V(:,1) =Va; 
V(:,2) =Vb; 
  
plot(ang,V); 
 
 

 

 

20 30 40 50 60 70 80 90 100 110 120
2

4

6

8

10

12

14

16

18

 

 
Va
Vb


	HW6sol
	HW6sol_
	스캔0001
	스캔0002

	HW6sol
	스캔0034
	스캔0035
	스캔0040


	Hw6_6

